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R(r1, r2, r3) =
|r2 − r1| |r3 − r1| |r3 − r2|

4A(r1, r2, r3)
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V (R(r(s), r(s′), r(s′′))dsds′ds′′ +

L∫
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|τ |2 ds ;�+<

V (R) =
{

0 R ≥ Δ
∞ R < Δ ;�-<
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0H���
;k, τ, δ, L< ��
�� t4 n4b4r4R4i4t14n1I 	�
� 3��
��1��
���I
t := V ector[1, 0, 0];n := V ector([0, 1, 0]); b := V ector([0, 0, 1])
r := V ector([0, 0, 0]);R := Matrix(3, L)
��� i ���� 1 �� L ��

R[1, i] := r[1];R[2, i] := r[2];R[3, i] := r[3];
t1 := t+ k[i] · n · δ;
n1 := n+ (−k[i] · t+ τ [i] · b) · δ;
t := t1√

t1·t1 ;

n := (n1−((n1.t)t))√
(n1−(n1.t)t)·(n1−(n1.t)t)

;

b := CrossProduct(t, n);
r := r + δ · t;
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P (x) =
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σ
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�� a4 b4 c4 d4 e4 f 4 ��������I 	�
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randbool := rand(1..2);
c := 0;
����
 1 ≤ c �� c ≤ 0 ��

a := Generate(float(range = 1..2)) − 1;
b := Generate(float(range = 1..2)) − 1;
c := a ∗ a+ b ∗ b;


�� ��I
d :=

√−2 ∗ ln(c)/c;
e := −a ∗ d; f := b ∗ d;
�� MeanMinimum = 1 ��
�

f
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�� randbool() = 1 ��
�
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En := 0I
��� i �� L ��

En := En+ k[i]2 + τ [i]2
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�� RandRes4 i4 Res4 k2, tau2I
RandRes := rand(1..L)I
k2 := V ector(L, k)I
tau2 := V ector(L, τ)I
Res := RandRes();
k2[Res] := GetRand(meank, deviationk, 0)I
tau2[Res] := GetRand(meant, deviationt, 1)I
�� E(k2, tau2, L) J E(k, τ, L) ��
�

k[Res] := k2[Res]I
τ [Res] := tau2[Res]I
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